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1 CHESNEL Yan JG1 578 | 562 571 | 572 570,8 | 578,0
2 CUSSIGH Laurent JG3 573 | 555 570 | 572 567,5 | 573,0
3 AHYOU Adrien JG3 555 | 566 566 | 563 | 566 | 542 | 550 561,0 | 566,0 542
4 MOCZKO Théo JG1 557 | 543 573 | 563 559,0 | 573,0
5 ALEHAUSE Maxence JG1 563 | 530 561 | 554 552,0 | 563,0
6 MONACELLI Nils CG3 540 | 548 | 550 546,0 | 550,0
7 ZUNINO Romain JG2 536 | 554 532 | 543 | 535 | 554 | 544 544,3 | 554,0 532
8 LE GUELLAFF-DUMAS Hervé-Louis CG1 537 | 528 | 528 531,0 | 537,0
9 GIGANTE Louis CcG1 532 | 513 | 534 526,3 | 534,0
10 DUCRET Victor CG2 518 | 537 | 519 524,7 | 537,0
11 RIO Tom CG1 494 | 524 | 528 515,3 | 528,0
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